Name: M\ A

10.1&10.2 Homework

@or False; The following sequence is arithmetic: -10,-3,4,11,18,25,32. n
S, ==
(if it is true, identify the d value) 0{ - " L (al 5 a?’f-)

a, =a; +(n—-1)d

2) Trueor False; The following sequence is arithmetic: -14,-12,-10,-8,-6,...
(if it is true, identify the d value) O{ i s

3) True orFalse; The following series is arithmetic infinite: -10 +(-15)+(-20)+(-25) +(-30).
(if it is true, identify the 4 value) dﬁ/\n_f'ud"f'— ol b Do lgoen -

19 35
4)Truejor False, The following sequence is arithmetic: H — 2 358

(if it is true, identify the d value) e 4
o

5) Write an explicit formula for the sequence. Then find @15, 12,22,32,42..
An =1L+ (n-1) (10) A3z =137

an = ‘O'ﬂ +2
6) Find the first 19® partial sum of the series -8+(-13)+(-18)... =
Sae 1 (cgrag)  d--5  Gw= -Fr(14-0(S)
£ Qg = = 99
- 10071

7) One term of an arithmetic sequence is a1 = 22. The common difference is 6. Find a;.

22 =4, + (13-1)(¢)
a, = - g0
8) One term of an arithmetic sequence is ai4 = -11 and d is 4. Write an explicit formula.
-H=dr(14-1)(4)  Gn=-063+(n-1)(4)
= =S A = 4 - 6T

9) Determine a rule for the nth term of the sequence. Then find a13. 72, 60, 48, 36, 24, ..
dp = 1L +(n-1)(-12) a3 =-12(13) 94  d=-11

An = ~1Ln + 94 a3 = -11 0 =

10) One term of an arithmetic sequence is a9 = 34. The common difference is d = — Write an explicit formula.

#/=a, t(19-1)F An = =294 (n-1) 2

! = 1
34*—-@.1’63 an: Tn—sz_s
@i = -49 2 4
11) Write an explicit formula. Then find aj,. 0,5,5,2,...
g o = ‘
On = (n-1) 3 ""1:3(11)*1::{5
_ X &= 3 3 >
iy'= - 3 3 .2
12) Write an explicit formula. Then find a;3. 0,—,3,—,.
am = ,3- - .3_ 2 2
L 1

Ay = l%



13) Two terms of an arithmetic sequence are ag = 74 and a21 = 191. Write an explicit formula. a, =0+ (n—1)d

n
a) a, =-2 +9n b) a,=-2+10n c) a,=10n+2 Sp = > (ay +ay,)

=4 +(3-1)d a1 =a, + (11 -1)d
’\4—'waa+—’ld\ IQI'—'q‘fZOGf ﬂ."|| an:”f(m’!)q
‘\q\i“qv’za& 0‘=q Gn < QA ’1’7,

14) Two terms of an arithmetic sequence are a7 = 42 and az3 = 170. Write an explicit formula.

@ b) a» =14+ 80 ¢) a =14+ 10n d)a, =14+ 10n
-4&7 ;6?,1(6)0( 17 = 16d Anz=-¢ +(n-1)%

170 2a, r124d d=9 a = -¢ an = §n - 14

15) Two terms of an arithmetic sequence are ag = 40 and az; = 96. Write an explicit formula.

a) a, =4 +6n b) a, = 4n +4 ¢) an= -4+4n d) @, =-4 + 6n

‘4050,;14 56 =144 On= S+ (n-) ¢
Q&tq'*lzd Oi:4— o, =9 Aw s &n + L
16) Find the sum of the arithmetic series g‘. 0481 SIS " _’_2_? (Al o )

i=4

a) -1960 b) -1962 ¢) 1960 - 1961
JUm [m (4+%x, %% z '))

17) Given the first 46" partial sum of an arithmetic series is -1265 and the d value is -1, find a and ass.

~|265-‘-ﬂ'_4_; (af‘f’ad-(,} ady{,:a;f’(ﬁlé"l)(’f) ffb':a[*/éf."%')
7 | -jo = 24,

6{;3’5

K. %46=a.t 45

ﬂq_(l =z "5'0

18) Find S»3 of the series -13+-5+3 +...
w T3 7 .
S23 2 = (-134143)
128

19) Considering if number 18 was a sequence, does it converge d why?

Adps = —13 + (23-1)(%)
aq:’, =



